EC50161 Coursework

The coursework should be a maximum of 1500 words long, including tables of results. It should also be legible and analytical, with particular emphasis on the interpretation of your results. A Bibliography should be included. You are allowed to discuss the assessment, cooperate and learn from each other if you wish, e.g. on using E-views. However, each submission must be individually distinct and written in your own words. The individual submission must also report results for the particular company allocated to you. (Your computer print out should be attached as an appendix). Don’t forget a negative result is just as interesting as a positive result, you will be marked on how well you conduct these tests and interpret the results, not on how good the results are.
Submission deadline for coursework is Noon on Friday 14th December 2007. You need to submit 2 copies, including the Economics cover sheet and hand them into the appropriate box on level 4 of 3 East (cover sheets are available from next to the box).
 The ‘market model’ of asset returns states that






Where:



= return (including capital gains and dividends) to shareholders of the j’th asset at time t.





= equivalent return on the ‘market portfolio’ of assets at time t.



    α = a constant.

Use the data file ftdata, containing 252 daily observations and the company return allocated to you, mrpi the market return and the monthly dummy variables.
1)  Estimate the market model, using the company allotted to you. (The company return variable is labelled rxxx and mrpi is the variable for the return on the market portfolio). Report and interpret your results with respect to the coefficients, t-tests, R2 statistic and F-statistic, testing the significance of the goodness of fit. 
2) Use the Durbin-Watson d statistic to test for first-order autocorrelation. Interpret your result.
3) A variant on the model ( the market-adjusted-returns model) hypothesises that:

i)  


Test this hypothesis using a t-test, briefly explaining the test procedure you use, and state your conclusion.

4) Test for 2nd order autocorrelation using the LM test for autocorrelation. This involves running the regression of the market model as in 1), then use the residual (ut) from this regression as a dependent variable in a secondary regression. The explanatory variables in the secondary regression include the market return and 2 lags of the residual: 
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Use the R2 statistic from this regression, to calculate the TR2 statistic (T are number of observations), which follows the chi-squared distribution (2 degrees of freedom).

5) Does the regression suffer from heteroskedasticity? Carry out a White’s test by running the original regression as before, then square the residual (ut) from this regression. Again run a secondary regression, this time with the squared residual regressed against the market return variable and the market return squared.
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 Calculate the TR2 statistic and once more this test statistic follows the chi-squared distribution (2 degrees of freedom).
6) Re-estimate the model adding monthly dummy variables (jan, feb mar etc) to account for any seasonal effects that might be present (add 11 dummy variables, omit dec). Test the joint significance (Using the F-test) of the monthly dummies, briefly explaining the procedure used. Comment on your findings. This test requires you to run 2 separate regressions, a restricted model without the dummies and an unrestricted model including the dummies. Collect the RSSes from both and calculate the test statistic.

7) Run a regression of the initial market model, but in this test include a lagged dependent variable:
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 Interpret the above model in terms of the t-statistics etc, particularly the lagged dependent variable. What does your result tell you about the adjustment of your company return?

(E-views will calculate these statistics for you, but for the purposes of the project you are required to run these tests in full (Not the Durbin-Watson test, the statistic from the main results is fine), however you can check your answers with the results from E-views)
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